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Question 11 1 mark

3(x -

Explam how the graphof v = -———————)~ 15 different than the graph of v = 3,
P giap ] grap .

{x =1}

ot

M
)
=
L
o
Fad
5
f
[ e
i
;
,,
e
Ry
)
—

L § / N 2
% H N
PPS—— A g ’1 ond ‘2

Question 26 | 4 marks

Skerch the graph of the function f(x) and determine the y-intercept.
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y-intercept:
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Question 31 2 marks

Match each function with its correct deseription.

a) The graph of this function has a vertical asymptote at ¥ = —1.

b) The graph of this function has a point of discontmuity (hole) at ¥ = 3.
¢} The graph of this function has a horizontal asymptote at y = 4.

d1 The domam of this function s xe B

Place the appropriate letter in thus columa,
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' xT+1

v 4x
g{x)= }ﬁ
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hix)= ~4—3\}i{3‘}+.l}
o (x-3)

1 4f{x -3
)=

Question 38 1 mark

Determine the coordinates of the point of discontinuiry (hole) for the graph of the function
(2—)(x=3)
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3 marks

MPC 40S
Question 41

2x+3

Sketch the graphof F{x)== )
T x+2
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3 marks

2x
Sketch the graph of v =

X+ d
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Question 30

1 mark
e . . L vi oy x=3
Write the equation of the horizontal asymptote for the function f{x)= =
A Yo
Question 36 2 marks
Identify the domain and range of the following function:
i 3
flx)=—
X+
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Question 44 4 marks

Sketch the graph of the following function:
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Question 34 2 marks

The graph of a rational function. f{x). has a point of discontinuity when x = 2 and an asymptote

when x = 4. Write a possible equation for f(x}).
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Question 43 4 marks

X I ¥ (" - - <
Sketch the graph of the function f(x}=——r. Vo
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Question 20 1 mark
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Identify the graph of the function ¥ = —. -~
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Question 45
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